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=LZ\CA 8.2 JtiEE 7.9 — 864 - 10 Va9
LA B X 0.3 - 1,944 - 10 A 3L
IZALCA 7.1 JtiEE 6.5 2,592 - 2,160 10 LL
IZALA f = 0.6 — 1,296 — 10 L
ES) 5.5 BERE 5.5 2,592 — 2538 0] A L
[E<ELY 22.1 £ % 22.1 2,808 2,160 1,728 15 A L
HTE 1.3 BRE 0.8 2,808 — 2592 4f A M
ZEDN 6.1 BRE 2.7 1,998 — 1,944 4f A M
Fry 82.7 B E 76.8 1,415 1,080 918 10 vay 8
Fry EES 4.0 378 — 270 0] A 6
IE5NAZES 0.6
= 6.1 JtiEE 3.1 3,726 — 3,564 5
Ch¥E 1.2 2 [ 0.6 5,184 2,592 2,592 3l A S
125 2.2 ElG 0.9 4,320 3,780 3,510 5] vay
L) — 0.9 E % 0.9 — 1,404 — 10 10
FRINGHR 1.3 = B 0.3 — 76 — 0.1 L
LAX 9.2 E % 9.1 4,104 2,592 2,268 10 A 16
LA 12 [ 0.1 1,404 810 810 1 A L
ForHYA 0.8 BRE 0.4 — 2376 — 4f A M
=p5Y 13.7 BERE 0.2 - 1,080 — 5] A L
=p5Y E X 9.1 - 2,160 - 5] vay L
NESSED) 3.1 & % - 1,620 — 10 S
Y 4.9 = I 2.2 - 2,700 — 5/ A L
k< 20.8 EES 13.1 2,700 2,376 2,160 4l vay M
el X & 5.9 2,592 2,160 2,160 4 A 28
S 5.7 EES 3.0 281 259 238 02| vay M
Rl N4 X & 2.1 3,564 2916 2,808 3 A L
E—<> 6.0 X 7 35 119 97 86 0.15 A M
E—<> N 1.2 2,160 - 1,836 45| vay LL
E515CL 0.5 B E 0.5 2,808 — 2527 5] vay LL
T35 1.1 BRE 1.1 86 - 76 008] A M
[ZA5Y 15 BRE 1.0 1,620 1,458 1,134 5/ A LL
SPVWAIFA =I5 - 2,160 — 2l D M
MrAL& 3.8 BRE 3.7 1,836 1,404 1,404 5/ A L
MALE BRE 1,404 1,296 1,188 5/ A LL
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=& 0.6 = I 0.4 540 — 486 1 A
AL 2.9 5 # 2.9 - 5,940 — 0] A 4L
f=Fh&E 37.2 dtiEE 26.8 - 2,376 - 20 L
f=FhE JtiEE 972 — 864 10
f=Fh&E ik B 8.0 3,024 — 2,808 20| vay L
A1z 0.5 th E 0.5 - 378 — 1 4L
ELLVE=T 1.2 BRE - 119 — 0.1 Vi L
ELLV=IT E 5 0.5 - 173 - 0.25| M M
ZADEET 3.6 E I 3.1 32 27 27 0.1 A
LHL 5.8 E 5 48 - 73 — 05
ESES T 286.4
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BMAHMAEE 5.8
INYRHFAHDNA 5.3 BRE 0.6 — 3,240 — 5/ A L
INGRFHDNA BERE - 4,320 — 5/ A M
INGRFHPNA BERE - 4,860 — 5/ A S
INDRH A = B 2.9 3,240 1,620 1,620 5 L
INGRH DA i B 3,240 2,160 1,620 5 M
INGRH DA i B 3,240 3,240 2,160 5 S
LEY 2.2 F Y 0.7 6,804 — 6,480 17 140
INLULT 0.8 = I 0.8 6,480 3,888 2,160 17 1133
L7y 1.3 m72Y 1.3 — 4644 — 15 45
YATE 45
YN 1.1 T & 0.7 — 6,804 — 10| F3av 40
PEPE=IY 25 5 & 25 7,992 7,452 7,020 10
AL 0.4 5 & 0.4 - 5,832 — 0] A LL
HA%ZLE 15.3
25k 14.1 2 [d 7.7 - 5,400 — 10 wva 32
— i 1.0 EES 1.0 - 324 — 1 4
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3HET 55
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FTHLE 0.1
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SESE 8.7
Big 3.3 2 [ 3.1 1,296 — 864 120 A Wyl
EA—* 1.1 2 [ 0.7 2,160 1,944 1,728 14| B 4L
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AOVEF 24
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FoL4)ILY 1.4 oty 2 1.4 4,968 - 4212 5.8 30
RERE 68.7




